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ER | 2| our | IN |TOTAL| HDCP = NET | f& 2
1 ERKXK=EE 39 40 79 10.5 68.5  *
2 BN KR — 42 42 84 14.4 69.6 | %
3 B R & B 36 37 73 3.1 699  *ARZRSOE
4 B & B F 47 44 91 20.7 703 | %
5 FEHAXI# 46 52 98 26.6 714 | %
6 | % i % B 51 48 99 26.9 721 | %
7R B E 2 41 39 80 7.1 729 | %
8 A B X B 47 41 88 14.7 733 | %
9 FH  IE 44 44 88 14.3 737 | %
10  # B Al 17 42 44 86 12.2 738 %k
1"/ W 7 50 44 94 19.9 74.1
12 | 5 M = 39 46 85 10.7 74.3
13 | /N JR Bh Z 53 45 98 23.7 74.3
14 2 & X 41 36 77 2.5 74.5
15 B M &5 2z 42 40 82 7.2 748 | %
16 | pT  # = 46 42 88 13.0 75.0
17 # B 5 45 38 83 7.8 75.2
18 € A = % 45 49 94 18.6 75.4
19 | fT & F — 46 45 91 15.5 75.5
20 /N ROE 48 45 93 17.0 76.0 | %
21 & B R B 40 46 86 9.9 76.1
2 WM B 2 47 41 88 11.7 76.3
23 B #H HB 45 44 89 12.7 76.3
24 H & K E 41 46 87 10.5 76.5
25 | {E & K Wi 44 37 81 4.2 768 | %
26 HE M O®E Z 48 46 94 17.2 76.8
27 & B F A 46 43 89 12.0 77.0
28 & B X B 43 47 90 12.8 77.2
29 & I A K 49 42 91 12.8 78.2
3 K #B * — 49 46 95 16.0 790 | %
3 &E X B 46 43 89 8.3 80.7
32 ® H W 51 56 107 25.2 81.8
VN EHE FE 53 55 108 24.4 83.6
4 AR 48 52 100 16.1 83.9
B m B E E 50 52 102 17.3 847 | %
6 k& HE B 48 43 91 5.6 85.4
37 M % &R 49 50 99 13.6 85.4 %k
38 {EBLZm 59 48 107 18.3 88.7
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